TVWM3030BK
INSTALLATION MANUAL

W/j

— —

| === = = ococococococo POlo

| === = — = = ocoocococoo @a)J

TVWM3030BK

200x200/300x300
400x200/400x400

11b
RATED

©

200x200/300x300 70"
400x200/400x400 WAX

600x400/800x400 43lbs
RATED

ERE
20

TVWM3050BK




(o (oo (o ()

M5x14 (x4) M6x14 (x4) M6x30 (x4) M8x30 (x4)
M-A M-B M-C M-D

(oo (oo]  §) )

M8x50 (x4) M-F (x4) M-G (x8) M-H (x8)

M-E

W-B (x4) W-C (x4)




